SF7E78298
ZRZERNEAFEE (No.4)

“SAD:ERE
KEIFEERDSMEUNISME T, FELYELETFEDH TL,
EHIEEERDESMETIIFELIYEHEORED., 15mETIEFE
FAiTLT-=,

7R1TBICERELE=-ZERERBABERZHMoELET,

KBEIFEEEADSMEUVISMET, FELYEETFIERDHTLT=,

BRI EERDSMETIEEFLYEPO0EDH., 15mETIIFEL
i CL7T=,

HO004)LESNREX. EERTISmELYE,. 5SmEUVI0mETEH
LMEEAY, ZVEETHEM TSV AEIELTWNSEEZ DN
aEL/T:o

BEEREL BERKEOERIIHYFHFATLI-,




BEA . ER/E

REEL KERME 52—

#7581 = (St.) 1 (FEK) 2 (GEILER) 3 (AR 4 (BiEH)
#AE A H SF7ETA17H
e 10:46 10:00 10:40 10:18
KR (m) 24.8 21.0 18.5 55.8
ZEAE (m) 4.5 3.5 7.5 8.0
KE 9 8 5 5
JKiE (°C) == 23.7 22.4 17.2 18.6
5mfE 15.6 15.8 15.2 15.7
10m/B 14.7 148 14.4 14.8
15m/B 13.8 14.1 13.4 14.0
K2 12.3 13.4 13.2 10.8
185 e 28.26 28.13 33.68 33.48
5mfE 33.72 33.65 33.70 33.59
10m/E 33.71 33.67 33.72 33.72
15m/B 33.74 33.73 33.70 33.70
[ 2 33.82 33.75 33.73 33.67
BEFERERE (mg/) A= 8.8 8.8 9.0 8.6
5mfE 9.2 9.0 9.3 9.1
10m/B 8.7 8.9 9.0 9.1
15m/B 8.5 8.6 8.4 8.8
[ = 7.5 8.1 8.1 6.3




i
- —— Yo =

ARERNES |

T

EE2215
AL

Oa TR (IfEEMEEAE )

X1 EREHAEERE
KStIMBLSLAICEWTEREDERRPREOMMLBE L ImOKEZH AL,



25

20

o 15
og

7KiR (°

¥ 10 -

st.1(FEK) smBDIKE

st.1(FEK) smEBODIES

=¢==H25 - RO6

33.0
R
32.0
== H25 - RO6

31.0 I
=== R07
T T T T T T 1 30-0 T T T T T T T T T T T
4 5 6 7 8 9 10 11 12 1 2 3 4 5 6 7 8 9 10 11 12 1 2 3
A A
«|
=
st.1(FEJK) _15mEBD KR st.1(FE/K) 15mEDIE S
35.0
=@==H25 - RO6
ﬁ —8—-R07 i 34.0 W,
33.0
\ ﬁ
\ 32.0
310 ——H25-R06
=== R07
T T T T T 30-0 T T T T T T T T T T T
4 5 6 7 8 9 10 11 12 1 2 3 4 5 6 7 8 9 10 11 12 1 2 3
A A

X2 st.1(FEK)DKEBERMESTDIHEFE



25

20

o 15
mg

(O

%10 -

st.2 GEALER) _SmEDIKIE

St.2 (ZALER) _SmREDIE S

=¢==H25 - RO6
== R07 B 34.0

r'*ld—o—.—/’_"‘.\

33.0
\ <§
= 32.0

S~

=@==H25 - RO6
31.0 I
== R07
T T T T T T ) 30.0 T T T T T T T T T
4 5 6 7 8 9 10 11 12 1 2 3 4 5 6 7 8 9 10 11 12 1 2 3
A A
st.2GEILER) 15mEBDIKE st.2(GEJLER) 15mEBDIES
35.0

==¢==H25 - R06

ﬁ —~8—R07 s 34.0 ———e
.

33.0
=
\ 32.0

310 —0—H25-R06

—8—R07

T T T T T T 1 30-0 T T T T T T T T T T
4 5 6 7 8 9 10 11 12 1 2 3 4 5 6 7 8 9 10 11 12 1 2 3

A H

K3 st.2(GZEALER) DKBERUNIESTDHF



st.3(H/E) smENDKE

35.0
e=f==H25 - RO6
e=fil=R07 = 34.0
33.0
g
= 32.0
31.0
T T T T T T T T T T 30,0
5 6 7 8 9 10 11 12 1 2 3
A
N «|
B
st.3(H/E) 15mEBD KB
35.0

=¢==H25 - RO6

ﬁ ~—R07 s 34.0
33.0

<§ .
& 32.0

5 6 7 8 9 10 11 12 1 2 3
A

st.3(HE) smEBOIES

— <l

=¢==H25 - R06

== R07

10 11 12 1 2 3
A

st.3(FHE) _15mEDNIES

4 5 6 7 8 9

.__WH—O—N

=¢==H25 - RO6

={i=R07

10 11 12 1 2 3
A

4 5 6 7 8 9

X4 st.3(AE)DKERVESDHFE



st.4(B¥EH)_SmBEDKiE

35.0

St.4(BEH) _SmEDIES

=¢==H25 - RO6

33.0
R
\0\ %32.0
e=f==H25 - RO6
31.0 -
=== R07
r r r r r r r r r r ) 30.0 r r r r r r r r r r
5 6 7 8 9 10 11 12 1 2 3 4 5 6 7 8 9 10 11 12 1 2 3
A A
st.4(HEHH) 15mEBDKE st.4(BEH) 15mEBDESH
=@==H25 - RO6 0

ﬁ == R07 = 34.0 . |

33.0
=
32.0

25 -
310 ~4—H25-R06

—8—R07

T T T T T T T T T T 1 30-0 T T T T T
5 6 7 8 9 10 11 12 1 2 3 4 5 6 7 8 9 10 11 12 1 2 3
H H

X5 st.4(BEHR) QOKERVIESDHF



IR

5m,

! = ~ Y ==

b P p——

[
4 BERERAESR

T

EE2215
AL

OFF I (HREMERX)

X6 smEO AOJ )L EIE

XKEFTRELEETHY., EHGEETIEHYFRE A ERDOHEIHIGELERELTIF
RSN (AZELOLTORRIEITEEEA)




10m|

IR

~ Y ==

b P p——

[
BEERAES

T

EE2215
AL

OFF I (HREMERX)

X7 10mEBOrORAJq)LEILE

XKEFTRELEETHY., EHGEETIEHYFRE A EROHEHIGELERELTIF
RSV (AZFE D TOERIETEFEA) -



15m]

IR

! = ~ Y ==

b P p——

[
4 BERERAESR

T

EE2215
AL

OFF I (HREMERX)

K8 1smEN/OQJq)LESEE

XKEFTRELEETHY., EHGEETIEHYFRE A EROHEHIGELERELTIF
RSV (AZFE D TOERIETEFEA) -




